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He inquired of them, a ‘fourth’ by Koidesh — 17713°1%% Rp2 wTIp2 920

OVERVIEW

The &na cites a dispute between 27 and PXmWw regarding the test that *ar 8°21 posed
to the 2372.' 27 maintains that >3 asked regarding a w7p2 *¥°21 and the 2°372
(when they said it is not Xnv) were mistaken, while X maintains that °in
inquired regarding a w72 w1 and the 0°175> were correct. There is a dispute
between >"¥1 and MBI, how to explain the question *17 posed to the 0°172.

- 25519 15190 YN BNYHY BNYN IR 2¥IW 1399 19393 YT DIVNPH WO
>'""w9 explained that 12152 ¥31 means that a yow (which is an 7X?07 2X) touched
the bread and the bread (which became a n¥m0> NWwX1) touched the porridge
(which became a °1v), etc.

mMooIn asks a number of questions on >"'w7:
- 95191 919 YaN’ Y3 ININ WITD 1515 HANM 5 INIT NIW INIT 0N 1393499 v

And the n''9 has a difficulty with "v7°5; why is there this difference that the
explanation of Y28% %> X1 (which is written with a "1, like all the other foods) is,

‘or to any 9287, not like the rest of them (which are also written with a 'Y and are
interpreted as ‘and’, not as ‘or’).

Question # 2.
- NPT YN’ Y9 N NirY 5193932 Y)Y H1a NIND HNINY PNT NNY Y

And additionally why did >Xw answer awkwardly that 1732 715 does not mean
a YW, but rather 1732 71> means with something that touched the y7v, when he

should have said that %28» %> ®X specifically, meaning that the 12w (which is a *¥°27)
touched 2x8n 93 9% (making it a *w°ni) and the 0170 were correct.

! The entire 102 in 2,2 °31 reads: 2281 22 28) 7% 28) T 28) 713 2N) 0777 28 19392 D) T2 192 WP WD UK KB 1
N7 1R 221557 WY W
% This means that the 7w was at the edge of his garment 19132 (the 1732 7122 w7p W1 is referring to the YW [see *"'wA
qwa 7"7 2,10]), and he touched the YW which was 19332 to the anb.
3 The 711 (which is a ") touched the 1, and the 7 (which is a *w"9) touched either the 12w or Yox» 95 (making
them a "y°27). The 0°373 responded incorrectly (according to 27) that the *¥°27 is not Xnv
* See footnote 3. Regarding all the other foods (3 ,7°11) the " means ‘and’; the on% touched the 713, the 711 touched
the 1, etc. why by %581 93 DX 12w 9% it means that the 7 touched either the 1w or 2o8n 93, instead of meaning (like
all the others) that the 1 touched the 12w and the 12w touched 787 937!
> We are now assuming the 19192 means the 7 (see footnote # 2 and the following question); to say that it means
something which touched his 715 is a pm7. However to say that 7381 93 R is Xp17, is the simple meaning! See
‘Thinking it over’.
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Question # 3.
- %939 XYY 2NN KNP NIY TN

And furthermore why does the »105 refer to a Yy w as a n12?!

Question # 4.
- HNA VMY ANMIVN AN NYYI DNDNY SYWIHY NIN WTPa »Wa NN 83929 Y911 I

And finally, X139 explained the difference between the two o°?09; there (by
vv) it is a wIPa "¥oa, here (by n» Xnv) it is a "w>w, for the bread became an

87157 28 when it touched the n%;® however how can X121 say that the o became an 2x
ANMIvT -
- ANMIVA AN NYPI 1IN °N1PN2 NNV 1Y PRY 937 994 (3,05 11 “NYDNNA 19 K1DD KDY

For we have established the rule in n%s»7 P79, that anything which cannot be
purified in a mp» (bread for instance) cannot become an ;X217 2K!

mooIn offers a possible resolution to this last question (#4):
= ©99) DTN NHDVY XPIT 129N RNV AR AVWYI PPNT 99D W NN

However perhaps we can say; that when we say that mpn2 7770 12 7PRY 127 9

cannot become an 82177 a8 that means only in regards to be 2°921 278 X»uR

(this it cannot do)
= ANMIVA AN NYYI PPYNI PHIIND DAN

However regarding to be 1pwny 1928 Xnun, bread can be an R»WT 28, so that
the npwn 923 which it touches becomes a IxmW? MR, Therefore this question is resolved.

mooin offers his interpretation:

% See footnote # 2. Nevertheless when the 109 speaks about the transfer of Xm0 it states ono7 X 19192 ¥an; why
should the y7w be called 113, it should clearly state yw?!
7 The x7m3 shortly brings the following 109 in 3,2 1 (which reads; ©°377 221 X207 798 222 WH3 Ry ¥ DX 37 K7
Xnu> 1mR"1.) and discusses why here they said it is Xav. The explanation of X1°27 was that in 2> 105 the an? touched a
vIw, therefore the 1w was a WTpP3a *¥°27 (as explained in footnote # 3), however in ¥ P9 the on® touched a nn
which makes the an% an n¥m w7 28 and subsequently the 12w a *w2w; the 0172 were aware of a w12 *w°>w but not of
a’y’an.
¥ See x1°21 71"7 "w.
% The X3 there says that it is not necessary to remove a v 0711 °23 from the WIpn, since Mpna 777V 17 PR. The R03
in 2,7p 1217°Y states that the reason is because ARV AR WY 1PRW. NDOIN in N> 7"'7 2,70 "3 states Y 97
1217V 110INTI ARMVT AR WY R Mpna 100, See TIE there footnote # 6 which states: There are two 2°2109, in DWId
npn, one (W,1) states *¥°aws a2 WumM (and he shall purify him on the seventh day) and another 105 (23,aw) states
27T TV RNDD DYAIT WO RAYY XNLT 12 ¥R WK 991, In "wA (there in PAY) X7 7" he states: ¥ awn 01°2 Wum 191 22007
7237 RDT X2°7 921 X1 NYAIT woIm 2 1P 19°202 7770 2 W7 WM 102 17PT RO 9 SR RALT 12 Y WR 591"
NYNIT woIm 2 137p XY . The w191 do not find an explicit source however in the X773,
' The laws of 2" mpna A7 are written only regarding people and 273, but not regarding 1"22'8; once they become
Xnv they cannot become M;7v.
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- 5% YN IN DNYN YN 9391 PYUNT AU 19393 133 XIUNT DN 13539 WH91)
And the n''1 explained that the Y22 touch the 11> (garment), which became a

1wRY, and the 710 touched either the bread or the 7511 (making them a »1w) -
- NYAIN 291 YANN 3 INY AYHY 291 YN I IN 1N IN 130 10
And one of these (either the an% or the 7°11 [which are a *1v]) touched either the
wine or the oil which become a "w"»w, and the wine or oil touched »a8% %> bR
which is a "p°29 -
- Pya X819 NUY 0PINAY S¥a KT NN NPYN YINN 933 910 o
And he mentioned this specific order of nis, then ®o8% (7°11 W on?), then mpwn
(yaw W 1), and again 28% (7281 75 9X), for he did not want to mention that a

Xnv should make Xnv something similar to him (9518 xnv> 921 or Ppwn xnwh PRwn),
but rather pwn Rawn 587 and 701 Knwn apwH.
- UNN %91 1939 N1 P31 Honimnuy)

And YRy infers since it says 19122 the 90X 92 X becomes a XML Mwnan.

mooIn answers question # 4.
- WLV NIN IMINT NI*29D 9V NN XAV

And now it is properly understood what X1°29 answered that here (in the p109
of N Xnv) it is a MwHY -
:09997 *59 1979 ANDIVLD AN NYY) NN YANN 919NV

For the n1> which touched the n» became an 8™ 28 like all utensils, which
become an 7RI X if they touch a nn.

SUMMARY
According to M0 the YW touched the 712, the 715 touched either the an® or 71,10

" This is implied in the beginning of the 105 where it states 1732 7122 WP w2 WX X 17. See footnote # 2.
"2 moo1n may be answering an anticipated question; seemingly the same question on ", applies to Moo as well,
for why are 711 and 19w interpreted to mean ‘or’, and 1 and 928» 93 9N are interpreted to mean ‘and’. MOOIN
explains because the foods are grouped into two categories (Jaw1 1) Ppwn (7981 23 ,7°11 ,0n7) 192; the second of
each group (the 711 and the 12w) are interpreted to mean ‘or’; however, the first in each group (an? and 1) is
interpreted to mean ‘and’. They were purposely ordered in this fashion so we should not have a case of Rnvn 9%
SR Or APWH RAbA TPwn.
13 Thus question #1 is answered that 95%» 23 X1 does not mean ‘or’, but rather ‘and’; question #3 is answered, 712
does not mean Y, but rather a garment. N1901N answers now question # 2
4 oxmw says 19132 YA 1112 2°N1 193131 ¥a11 ,1935 YA 2°nd . We will need to say that the 715 (which is a 7wX1 from
touching the yw) touched 7pwn (which became a ") and the 7pwn touched either the on? or the 711 (which became
a >w°7>w who in turn touched either 12w 1> (which became a >v>27) which in turn touched 7587 93 ?X (which became a
wnn).
5 1t is not necessary to give the answer that even 1pwn) 122X can become an 7RM™I07 IR to be TPwWM 17X Xnwn for
that is a Wh7m.

3

TosfosInEnglish.com



*v°27 17"'7 '0 K, 2°moD L7"'02
and they in turn touched 7> or 12w, who in turn touched 2287 95 (a *¥°29).

THINKING IT OVER

mooin asks on *"w1 that Y8 1mw should have said that it is a *wnn since 2281 73 X1 is
to be taken literally (and not ‘or’ to 7o8n 93), instead of saying that 19152 ¥an
means 19122 ¥2w 7n2 which is a pm7.'” However one may argue that there is an
advantage in the answer that X1W gives over the proposed answer NModIN suggests.
" asked a second question, what if a ni &nv touched 177X %52 would it become Xnw
and they answered correctly, yes. Presumably the term 7778 922 refers to the items
enumerated in the previous 109, which the y7w touched. %XwWw interpreted the
previous P09 that the 915 touched something which in turn touched the aon®.
However this item is not included in the P05 explicitly, therefore we may presume
that 79X 902 in the next P10 only refers to the 7w ,1°° ,7°11 ,0n7, but not to the nn2
19102 ¥A1w which is not explicitly stated in the pos. If we assume this, it is
understood why %Xmw answered 19102 YW 113, because then we understand why
in the first 705 they said 717, since it is a *w°»n (including the Y21 7n3), however
in the second P0d they said Nnv, because the nn Xnv touched the on? directly,
making the last item a °¥>27. However if X% counts 7381 93 HX1 as a separate item
(as Moon argues), which is explicitly stated in the 2102 and therefore included in
the 9% 902 (of the second 109), so why is it that regarding a v they said "
because it is a " nn, the same thing is by a N Xnw; it is also a *w nn if we include
Saxn 29X as a separate item?!'®

16 According to 21. According to PXmw the 733 touched 1"pwn which touched either the on® or the 7°13, which makes
the 9o8n 93 9% a “wnn.
17 See footnote # 5.
¥ See x"wm
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